#%E 17 f&2- F# ODE 7% -+ B 2 % -Clairaut = &3' e77f3 /2

=151 Clairaut A= AL
y=x'+g(v) 1)

S WYy 2Ry R - &3 5T g () R R P4 Clairaut ™)
PRZCERZ R 5 AR o B R 5T ARSI T P RLT SRS LY kLR
IS BRGSO S x (BT

dy _dx , dy'  dg(y')

+Xx——+
dxy xdx dx

( ) dy'

—
—

EI [LI—EFV Hi

Elﬁk‘(3a)ip, ' d‘fi_ﬁ EIT’ TR T ﬁgi_;,‘r ﬁ’sry =C > H[1CHy Ts{g( f
I*[F" (1) » I/EJZ#I[ F' ~Jk o

y :Cx+g(C) 4)

248 ok A © SR R 4 R C g €
S P I GOA PR ()Y FrEORIE - S ) = O T
/5{_] y'gjxﬂirjﬂll I”“[fl'(l) Hl [ = U% IRED bl ﬁﬁ]’y— » i EL & B f2(Singular Solution) -




(-

| R
. D _ ! _f[/ . o
et} Clairaut A= y = xp' + e es

RIS S (=55 0 JI)

PR E ARG, T r_ J\‘[[J_'L::L, y‘[j\LI' EE[/
Lo P (a) ey SR Ay = C o FFIEVRE

2. (i (1b)H1 >

ﬁf ﬁ,glgﬁb "V “EJZiFh % ﬁ'E\rC’E ﬁ’g{”:@;‘%’g o

= TEl-, © *J g . i [[fl‘"l ) ;T'E’qi
4 G y SLSETR t'; — E)Ll%’:q ﬁ[% [ 4 l E §,Fk
2. l[ \J\ ﬁlﬂ/ [—ﬁzfl .Il:l 3 l)ili[l % ( IE[ I 1% §F [l E IJ




CREIZE TF?]}J
N F’?ﬁéjﬂ%@&lf&f s S F[f% F YA =R (Dependent Variable 0 3| ﬁfJ"I‘J
ITHFFy RV Iy sy T EE R F'F' FHEEHE - &3
IR A B3 TS o PR BRI 5
. % Mathematica | il [ ﬁ:jfﬁlel | C [ [IT il 3 C oy I

-3~ -2-~-1~1~2~3 [H ?‘F'I f‘ﬁ 73 HHE\@f1=Plot[—3*x—§,{x,—3,3}] J
f2=Plot[—2*x—%,{x,—3,3}] fys=Plot[-1*x—-1,{x,-3,3}]

f,=Plof 1*x+1,{x,-3,3}] 1. =Plot[2*x+%,{x,—3,3}]

f6=Plot[3*x+%,{x,—3,3}] [Ty = +2\/_71J1§Ll'xe[ 33]FIJ§‘*@I,JEI;I;|&J

7}IH“ET'Jf7 :Plot[Z*\/x_, {x,-3,3}]" fs :PlOt[-z*\/x_, {x,-3,3}] °3«£§'%‘{‘ fLHFH:LJE
;’&L;T@T} [ﬁj~ %’élﬁ”‘ ’ i[ Mathematica ﬁ;‘]—ﬁ t"'x}lfg =Sh0w[f17f2’f3’fzwf59f6’f7ﬂf8 J——f‘ :,
- R 5 ShiftsBnter S AL o AR F TG AR
sl BRI 2l Sl 0

I 30 o gl > =iy y 4




. Solve the general solution of 2(y ) (2y +x)y +x°=0.[93 Ff‘\[” - 10%])

. Find the general solution of following ordinary differential equation.
4x(y') +2xy' —y =0 [93 I°K[+ 457 10%]

. Solve the general solution (y')2 —xy'+y=0. [92 [+ 4 AT 10%]
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